#run scan q CAFE/ABC module in beam at -10 deg.C
#1116 1 0.000
1116 2 0.625
1116 3 0.9375
1116 4 1.25
1116 5 1.5625
1116 6 1.875
1116 7 2.1875
1116 8 2.50
1116 9 2.8125
1116 10 3.125
1116 11 3.4375
1116 12 3.75
1116 13 4.0625
1116 14 4.375
1116 15 4.6875
1116 16 5.00



ATLAS SCT Modute Test
Run 1116 Scan4 Module 4 Stream O Scan type: THRESHOLD (mV)

Module 4 Stream 0 THRESHOLD (mV) Scan

THRESHOLD (mV)

Mean (mean) = 239.86mV, Sigma (mean) =7.20mV, Nentries = 768
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ATLAS SCT Module Test

Run 1116 Scan4 Module 4 Stream 1 Scan type: THRESHOLD (mV)

Module 4 Stream 1 THRESHOLD (mV) Scan i

THRESHOLD (mV)
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Run 1116 Scans 3-13 Charges 0.94 - 4.06 f{C Module 4 Stream 0

[_ResponseCuvechip? _ (Nemt=0y [ Canchip0 | (Nen=oy [___Ganchipl ]

Response Curve 3

Output Noise chip O Output Noise chip 1 Output Noise chip 2 Input Noise chip 0 Input Noise chip 1 Input Noise chip 2

MpuTNoiSe Chip 2 Nenr=0} [__TnputNosechip5 ] (Nent=0]




Run 1116 Scans 3-13 Charges 0.94 - 4.06 fC Module 4 Stream 1

[_ResponseCuvechip? _ (Nemt=0y [ Canchip0 | (Nen=oy [___Ganchipl ]

Response Curve 3

Output Noise chip O Output Noise chip 1 Output Noise chip 2 Input Noise chip 0 Input Noise chip 1 Input Noise chip 2

MpuTNoiSe Chip 2 Nenr=0} [__TnputNosechip5 ] (Nent=0]




0 6117 5608 5310 6957 6745 5625
pl 16477 17031 16562 16859 16915 16970
p2 2016 2098 012 073 2079 24
Offset [mV] 6117 5608 5310 6957 6745
Q[fC]  Gan[mVic] Inputnoisefe]  Enorfe]

Q[c] o 0 0 1

0.94 12698 185103 17886 13097 187011 9B23
1.25 11438 15077 3487 11785 154806 4497
1.56 10178 149790 2002 10474 156683 4967
1.88 8918 148900 5176 9162 156162 6355
2.19 7658 135404 8450 7851 141091 7631
250 639 128352 6358 6540 139154 8150
2.81 5139 13072 5695 5228 146536 93%
3.13 3879 14734 1279 3917 158904 12340
3.44 2619 178849 1692 2605 197576 18728
3.75 1350 286298 18915 1294 351902 40653
4.06 100 B3PBL43 126411 018 23821350
605355 425 -1175934 472360
stun1116 4 0

Qlfc] o 1 2 3 4

0.94 18308 1882 17819 20213 20030 19340
1.25 23660 23832 23103 24772 24663 23601
1.56 2709 27309 26536 2834 2233 26983
1.88 328 30650 20591 31735 31551 30006
219 3225 3R75 3284 U376 M264 3589
250 3862 HBI67T MM /R BLR2 M543
2.81 36370 H6719 3;JWBE5 37829 37787 BLH
3.13 37702 38087 37156 30166 3073 35747
3.44 370 308 3\L74 40121 40023 3B269
3.75 30446 39860 30011 40019 40832 39300
4.06 40002 40460 3%11 41548 4145 35683

5625
2
12791 196889
11533 151128
10276 147841
9019 151565
7761 141360
6504 130390
5247 132960
3090 148720
2132 177014
1475 261644
3325432

18385
329
2670
4713

8830
64.77
8563
17030
24898

2

12972
11676
10381

7790
6494
5198
3003
2607
1312
218

3
166492
153114
151968

143734
128025
127057
129002
135390
174302
301630

1524312 106806

3
16750
2850
2850

7345
7267
6183
9400
8965
8204
13900

3
13017
11718
10419
9120
821
6521
5222
3923
2624
1324

016

4
170158
153580
156042
148592
131699
128245
130757
137944
178088
312232

16525
3206
3286
7559
73271
441
9599
eCu
6383
15524

2153384

12955
11617
10279
8941
7603
6265
4027
3589
251

19121
170475
180546
182945
178008
183000
196648
220092
283638

1358293

7195

9687

17250

17448

20527

24803

25736

60194

1007.08

913 727884 188697
025 14425872



0 7033 5750 5287 6416 683 6805

pl 16849 16900 17303 16911 16853 16782

p2 2061 2074 2115 2061 2057 2046

Offset [mV] 7038 5750 5287 6416 683 6806
Q[fC]  Gan[mVic] nputnosefe]  Enorfe]

Q[c] o 0 0 1

0.94 128 15604 3408 13020 150045 3179 13338
1.25 11698 155539 3731 11723 149418 3520 12017
1.56 10410 158752 4826 10427 149504 3975 10695
1.88 9122 14918 65 9130 148651 5879 9373
219  783% 136387 5082 7834 133827 8l038 8051
2.50 6547 133404 5044 6537 13423 5886 6730
2.81 5250 140707 8398 5240 138062 7183 5408
3.13 3971 153240 10345 3044 146347 11657 4086
3.44 2683 200687 14332 2647 176769 1330 2765
3.75  13% 333288 25706 1351 304560 25757 1443
4.06 108 3\2004 37670 054 7008743 679115

stun1116 4 1

Q[fc] o 1 2 3 4

0.94 20731 19617 19406 20159 262 M3

1.25 24942 23729 23735 24449 24737 24678

1.56 28489 2729% 27293 279690 28292 28206

1.88 31812 30536 30658 31235 31627 31488

219 3478 3288 346l 3928 3B UL

250 36356 H164 3448 35030 36228  3HBLIS

2.81  309% 36737 3077 3B72 3859 37716

3.13 30310 38100 38491 38913 391N 3035

3.44 AR 2116 3505 39907 40160 40011

3.75 41141 39897 40342 40765 4099 40859

4.06 41812 40493 40985 41431 41668 41519

151353
149157
1513.78
149838
134625
131160
138414
145851
181922
314183

121

2
3068 13047
2063 11759
3859 10471
4450 9183
7761 7895
5621 6607
6021 5319
9727 4031
10720 27143
21397 1455
3405093 269686

3 3 4
6718 12097 155988 3436
8518 1712 155836 4727
8026 10426 15921 5069
6869 9141 152376 7090
69.35 7855 138451 6697
68.76 65.70 138144 7414
9188 5284 140543 9568
13348 3099 152134 11689
2068 2713 196938 18213
36566 1428 337655 35208
2532089 463595 142

12045 156999
11666 156704
10387 158568
9108 151474
7829 136397
6550 135579
5271 138307
3092 149292
2713 191277
1434 316860
2981583 346749

3942
5094
4871
67.72
8146
5883
8588
101.9%
12557
20343
1% 2594549 194593



